New subclasses of bi-univalent functions defined by multiplier transformation

Saurabh Porwal and Shivam Kumar

Abstract. In the present paper, we introduce new subclasses of the function class \sum of bi-univalent functions by using multiplier transformation. Furthermore, we obtain estimates on the coefficients $|a_2|, |a_3|$ and $|a_4|$ for functions of this class. Relevant connections of the results presented here with various well-known results are briefly indicated.

Mathematics Subject Classification (2010): 30C45.

Keywords: Analytic, univalent, bi-univalent functions, multiplier transformation.

1. Introduction

Let \mathcal{A} denote the class of functions f of the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k,$$
 (1.1)

which are analytic in the open unit disk $U = \{z \in \mathbb{C} : |z| < 1\}$ and satisfy the normalization condition f(0) = f'(0) - 1 = 0. Let S be the subclass of A consisting of functions of the form (1.1) which are also univalent in U.

It is well known that every $f \in S$ has an inverse f^{-1} , defined by

$$f^{-1}(f(z)) = z, \ (z \in U)$$

and

$$f(f^{-1}(\omega)) = \omega, \ \left(|\omega| < r_0(f), \ r_0(f) \ge \frac{1}{4}\right),$$

where

$$f^{-1}(\omega) = \omega - a_2\omega^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2a_3 + a_4)\omega^4 + \dots$$

A function $f(z) \in \mathcal{A}$ is said to be bi-univalent in U if both f(z) and $f^{-1}(z)$ are univalent in U. Let Σ denote the class of bi-univalent functions in U given by the Taylor-Maclaurin series expansion (1.1). Examples of functions in the class Σ are $\frac{z}{1-z}$, $-\log(1-z)$, $\frac{1}{2}\log\left(\frac{1+z}{1-z}\right)$ and so on.

However, the familiar Koebe function is not a member of Σ . Other common examples of functions in S such as $z - \frac{z^2}{2}$ and $\frac{z}{1-z^2}$ are also not members of Σ .

Lewin [7] first investigated the bi-univalent function class Σ showed that

 $|a_2| < 1.5.$

Subsequently, Brannan and Clunie [2] conjectured that $|a_2| \leq \sqrt{2}$.

Netanyahu [9], on the other hand, showed that $max_{f\in\Sigma}|a_2| = \frac{4}{3}$.

The coefficient estimate problems for bi-univalent function class Σ is an interesting problem of Geometric Function Theory. Several researchers e.g. (see [1], [6], [11], [12], [14], [16], [17]), introduced the various new subclasses of the bi-univalent function class Σ and obtained non-sharp bounds on the first two coefficients $|a_2|$ and $|a_3|$. Recently, Mishra and Soren [8] obtain coefficient bounds for bi-starlike analytic functions and improve results of [3].

In order to prove our main results, we shall require the following lemma due to [10].

Lemma 1.1. If $h \in P$ then $|c_k| \leq 2$ for each k, where P is the family of all functions h analytic in U for which $\Re\{h(z)\} > 0$,

$$h(z) = 1 + c_1 z + c_2 z^2 + c_3 z^3 + \dots$$
 for $z \in U$.

2. Coefficient bounds for the function class $B_{\Sigma}(n, \beta, \lambda, \mu)$

Cho and Srivastava [5], (see also [4]), introduced the operator $I_{\lambda}^{n} : \mathcal{A} \to \mathcal{A}$ defined for the function f(z) of the form (1.1) as

$$I_{\lambda}^{n}f(z) = z + \sum_{k=2}^{\infty} \left(\frac{k+\lambda}{1+\lambda}\right)^{n} a_{k} z^{k},$$

where $n \in N_0 = N \cup \{0\}$ and $-1 < \lambda \leq 1$. For $\lambda = 1$, the operator $I_{\lambda}^n \equiv I^n$ was studied by Uralegaddi and Somanatha [15] and for $\lambda = 0$ the operator I_{λ}^n reduces to well-known Sălăgean operator introduced by Sălăgean [13].

Definition 2.1. A function f(z) given by (1.1) is said to be in the class $B_{\Sigma}(n, \beta, \lambda, \mu)$, $(n \in N_0, 0 < \beta \le 1, \mu \ge 1, -1 < \lambda < 1)$, if the following conditions are satisfied:

$$f \in \Sigma \text{ and } \left| \arg\left\{ \frac{(1-\mu)I_{\lambda}^{n}f(z) + \mu I_{\lambda}^{n+1}f(z)}{z} \right\} \right| < \frac{\beta\pi}{2}, \ (z \in U)$$
(2.1)

and

$$\left|\arg\left\{\frac{(1-\mu)I_{\lambda}^{n}g(\omega)+\mu I_{\lambda}^{n+1}g(\omega)}{\omega}\right\}\right| < \frac{\beta\pi}{2}, \ (\omega \in U),$$
(2.2)

where the function g is given by

$$g(\omega) = \omega - a_2\omega^2 + (2a_2^2 - a_3)\omega^3 - (5a_2^3 - 5a_2a_3 + a_4)\omega^4 + \dots$$
(2.3)

Throught this paper, we shall frequently use the notation

$$M_k = \left[(1-\mu) \left(\frac{k+\lambda}{1+\lambda} \right)^n + \mu \left(\frac{k+\lambda}{1+\lambda} \right)^{n+1} \right], \ k = 2, 3, \dots$$

By specializing the parameters in the class $B_{\Sigma}(n, \beta, \lambda, \mu)$, we obtain the following known subclasses studied earlier by various researchers.

- 1. $B_{\Sigma}(n,\beta,0,\mu) \equiv B_{\Sigma}(n,\beta,\mu)$ studied by Porwal and Darus [11].
- 2. $B_{\Sigma}(0,\beta,0,\mu) \equiv B_{\Sigma}(\beta,\mu)$ studied by Frasin and Aouf [6].
- 3. $B_{\Sigma}(0,\beta,0,1) \equiv B_{\Sigma}(\beta)$ studied by Srivastava *et al.* [14].

Theorem 2.2. Let the function f(z) given by (1.1) be in the class $B_{\Sigma}(n, \beta, \lambda, \mu)$, $n \in N_0, 0 < \beta \leq 1$ and $\mu \geq 1, -1 < \lambda \leq 1$. Then

$$|a_2| \le \frac{2\beta}{\sqrt{2M_3\beta + M_2^2(1-\beta)}},\tag{2.4}$$

$$|a_3| \le \frac{2\beta}{M_3},\tag{2.5}$$

and

$$|a_4| \leq \left\{ \begin{array}{c} \frac{\beta}{M_4} \left[2 + \frac{4(1-\beta)}{3} \left\{ \frac{2M_3\beta + (1-2\beta)M_2^2}{2M_3\beta + M_2^2(1-\beta)} \right\} \right], \quad \left(0 < \beta \leq \frac{1}{2}\right) \\ \frac{\beta}{M_4} \left[2 + \frac{4(1-\beta)}{3} \left\{ \frac{2M_3\beta + (2\beta-1)M_2^2}{2M_3\beta + M_2^2(1-\beta)} \right\} \right], \quad \left(\frac{1}{2} \leq \beta \leq 1\right) \end{array} \right.$$
(2.6)

Proof. It follows from (2.1) and (2.2) that

$$\frac{(1-\mu)I_{\lambda}^{n}f(z) + \mu I_{\lambda}^{n+1}f(z)}{z} = [p(z)]^{\beta}, \qquad (2.7)$$

and

$$\frac{(1-\mu)I_{\lambda}^{n}g(\omega) + \mu I_{\lambda}^{n+1}g(\omega)}{\omega} = [q(\omega)]^{\beta}, \qquad (2.8)$$

where p(z) and $q(\omega)$ in P and have the forms

$$p(z) = 1 + p_1 z + p_2 z^2 + p_3 z^3 + \dots$$
(2.9)

and

$$q(\omega) = 1 + q_1 \omega + q_2 \omega^2 + q_3 \omega^3 + \dots$$
(2.10)

Now, equating the coefficients in (2.7) and (2.8), we obtain

$$M_2 a_2 = \beta p_1 \tag{2.11}$$

$$M_3 a_3 = \beta p_2 + \frac{\beta(\beta - 1)}{2} p_1^2, \qquad (2.12)$$

$$M_4 a_4 = \beta p_3 + \beta (\beta - 1) p_1 p_2 + \frac{\beta (\beta - 1) (\beta - 2)}{6} p_1^3, \qquad (2.13)$$

$$-M_2 a_2 = \beta q_1, \tag{2.14}$$

$$M_3(2a_2^2 - a_3) = \beta q_2 + \frac{\beta(\beta - 1)}{2}q_1^2, \qquad (2.15)$$

$$-M_4(5a_2^3 - 5a_2a_3 + a_4) = \beta q_3 + \beta(\beta - 1)q_1q_2 + \frac{\beta(\beta - 1)(\beta - 2)}{6}q_1^3, \qquad (2.16)$$

where

$$M_k = \left[(1-\mu) \left(\frac{k+\lambda}{1+\lambda} \right)^n + \mu \left(\frac{k+\lambda}{1+\lambda} \right)^{n+1} \right].$$

From (2.11) and (2.14), we obtain

$$p_1 = -q_1. (2.17)$$

We shall obtain a estimates on $|p_1|$ for use in the estimates of $|a_2|$, $|a_3|$ and $|a_4|$. For this purpose we first add (2.12) and (2.15), we get

$$2M_3a_2^2 = \beta(p_2 + q_2) + \frac{\beta(\beta - 1)}{2}(p_1^2 + q_1^2).$$

Using (2.17) in last equation, we have

$$2M_3a_2^2 = \beta(p_2 + q_2) + \beta(\beta - 1)p_1^2.$$

Putting $a_2 = \frac{\beta p_1}{M_2}$ from (2.11), we have after simplification

$$p_1^2 = \frac{(p_2 + q_2) M_2^2}{2M_3\beta + M_2^2(1 - \beta)}.$$
(2.18)

By applying $|p_2| \leq 2$ and $|q_2| \leq 2$, we get

$$|p_1| \le \frac{2M_2}{\sqrt{2M_3\beta + M_2^2(1-\beta)}}$$

Therefore

$$|a_2| \le \frac{2\beta}{\sqrt{2M_3\beta + M_2^2(1-\beta)}}.$$

To find a bound on $|a_3|$ we may express a_3 in terms of p_1, p_2, q_1 and q_2 . For this purpose we first subtract (2.15) from (2.12), we get

$$2M_3(a_3 - a_2^2) = \beta(p_2 - q_2) + \frac{\beta(\beta - 1)}{2}(p_1^2 - q_1^2).$$

Using (2.17) in last equations, we have

$$2M_3a_3 = 2M_3a_2^2 + \beta(p_2 - q_2).$$
(2.19)

Putting $a_2 = \frac{\beta p_1}{M_2}$ from (2.11) and using (2.18), we get

$$2M_3 a_3 = 2M_3 \left(\frac{\beta p_1}{M_2}\right)^2 + \beta (p_2 - q_2)$$

= $\frac{2M_3 \beta^2 (p_2 + q_2)}{2M_3 \beta + M_2^2 (1 - \beta)} + \beta (p_2 - q_2)$
= $\beta \left[\frac{(4M_3 \beta + M_2^2 (1 - \beta)) p_2 - M_2^2 (1 - \beta) q_2}{2M_3 \beta + M_2^2 (1 - \beta)}\right]$

Using the inequalities $|p_2| \leq 2$ and $|q_2| \leq 2$ and after simple calculation, we have

$$a_3| \le \frac{2\beta}{M_3}.$$

50

We shall next find an estimates on $|a_4|$. At first we shall derive a relation connecting p_1, p_2, p_3, q_1, q_2 and q_3 . To this end, first we add the equations (2.13) and (2.16), we get

$$-M_4 \left(5a_2^3 - 5a_2a_3\right) = \beta(p_3 + q_3) + \beta(\beta - 1)(p_1p_2 + q_1q_2) + \frac{\beta(\beta - 1)(\beta - 2)}{6}(p_1^3 + q_1^3).$$

Using (2.17) and (2.19), we have

$$\frac{5M_4\beta(p_2-q_2)a_2}{2M_3} = \beta(p_3+q_3) + \beta(\beta-1)p_1(p_2-q_2).$$

Using (2.11) and after simple calculation we have

$$p_1(p_2 - q_2) = \frac{2M_2M_3(p_3 + q_3)}{5M_4\beta + 2M_2M_3(1 - \beta)}.$$
(2.20)

We wish to express $|a_4|$ in terms of p_1, p_2, p_3, q_1, q_2 and q_3 . For this purpose subtracting equation (2.16) from (2.13), we get

$$M_4 \left(2a_4 + 5a_2^3 - 5a_2a_3\right) = \beta(p_3 - q_3) + \beta(\beta - 1)p_1(p_2 + q_2) + \frac{\beta(\beta - 1)(\beta - 2)}{6}(p_1^3 - q_1^3).$$

Using (2.17), (2.19) and after simple calculation we have

$$2M_4a_4 - \frac{5M_4a_2\beta}{2M_3}(p_2 - q_2) = \beta(p_3 - q_3) + \beta(\beta - 1)p_1(p_2 + q_2) + \frac{\beta(\beta - 1)(\beta - 2)}{3}p_1^3.$$

Again using equations (2.11) and (2.18), we get

$$2M_4a_4 = \frac{5M_4\beta}{2M_3}\frac{\beta p_1}{M_2}(p_2 - q_2) + \beta(p_3 - q_3) + \beta(\beta - 1)p_1(p_2 + q_2) + \frac{\beta(\beta - 1)(\beta - 2)}{3}p_1\frac{(p_2 + q_2)M_2^2}{2M_3\beta + M_2^2(1 - \beta)}.$$

Using (2.20) we have

$$2M_4a_4 = \beta \left[\frac{5M_4\beta(p_3+q_3)}{5M_4\beta+2M_2M_3(1-\beta)} + p_3 - q_3 + (\beta-1)p_1(p_2+q_2) \right. \\ \left. + \frac{(\beta-1)(\beta-2)}{3}p_1\frac{(p_2+q_2)M_2^2}{2M_3\beta+M_2^2(1-\beta)} \right] \\ = \beta \left[\frac{(10M_4\beta+2M_2M_3(1-\beta))p_3 - 2M_2M_3(1-\beta)q_3}{5M_4\beta+2M_2M_3(1-\beta)} \right. \\ \left. + (1-\beta)p_1(p_2+q_2) \left\{ \frac{(2-\beta)M_2^2}{3(2M_3\beta+M_2^2(1-\beta))} - 1 \right\} \right]$$

Using Lemma 1.1 and after simple calculation, we have

$$|a_4| \leq \begin{cases} \frac{\beta}{M_4} \left[2 + \frac{4(1-\beta)}{3} \left\{ \frac{2M_3\beta + (1-2\beta)M_2^2}{2M_3\beta + M_2^2(1-\beta)} \right\} \right], \ \left(0 < \beta \leq \frac{1}{2} \right) \\ \frac{\beta}{M_4} \left[2 + \frac{4(1-\beta)}{3} \left\{ \frac{2M_3\beta + (2\beta-1)M_2^2}{2M_3\beta + M_2^2(1-\beta)} \right\} \right], \ \left(\frac{1}{2} \leq \beta \leq 1 \right). \end{cases} \square$$

3. Coefficient bounds for the function class $H_{\Sigma}(n, \gamma, \lambda, \mu)$

Definition 3.1. A function f(z) given by (1.1) is said to be in the class $H_{\Sigma}(n, \gamma, \lambda, \mu)$, $(n \in N_0, 0 \le \gamma < 1, \mu \ge 1, -1 < \lambda \le 1)$, if the following conditions are satisfied:

$$f \in \Sigma \text{ and } \Re\left\{\frac{(1-\mu)I_{\lambda}^{n}f(z) + \mu I_{\lambda}^{n+1}f(z)}{z}\right\} > \gamma, \ (z \in U)$$
(3.1)

and

$$\Re\left\{\frac{(1-\mu)I_{\lambda}^{n}g(\omega)+\lambda I_{\lambda}^{n+1}g(\omega)}{\omega}\right\} > \gamma, \ (\omega \in U),$$
(3.2)

where the function g is defined by (2.3).

By specializing the parameters in the class $H_{\Sigma}(n, \gamma, \lambda, \mu)$, we obtain the following known subclasses studied earlier by various researchers

- 1. $H_{\Sigma}(n, \gamma, 0, \mu) \equiv H_{\Sigma}(n, \gamma, \mu)$ studied by Porwal and Darus [11].
- 2. $H_{\Sigma}(0,\gamma,0,\mu) \equiv H_{\Sigma}(\gamma,\mu)$ studied by Frasin and Aouf [6].
- 3. $H_{\Sigma}(0, \gamma, 0, 1) \equiv H_{\Sigma}(\gamma)$ studied by Srivastava *et al.* [14].

Theorem 3.2. Let the function f(z) given by (1.1) be in the class $H_{\Sigma}(n, \gamma, \lambda, \mu)$, $n \in N_0, 0 \leq \gamma < 1, \mu \geq 1, -1 < \lambda \leq 1$. Then

$$|a_2| \le \sqrt{\frac{2(1-\gamma)}{M_3}},$$
(3.3)

$$|a_3| \le \frac{2(1-\gamma)}{M_3},\tag{3.4}$$

and

$$|a_4| \le \frac{2(1-\gamma)}{M_4}.$$
(3.5)

Proof. It follows from (3.1) and (3.2) that there exists $p(z) \in P$ and $q(\omega) \in P$ such that

$$\frac{(1-\mu)I_{\lambda}^{n}f(z) + \mu I_{\lambda}^{n+1}f(z)}{z} = \gamma + (1-\gamma)p(z)$$
(3.6)

and

$$\frac{(1-\mu)I_{\lambda}^{n}g(\omega) + \mu I_{\lambda}^{n+1}g(\omega)}{\omega} = \gamma + (1-\gamma)q(\omega), \qquad (3.7)$$

where p(z) and $q(\omega)$ have the forms (2.9) and (2.10), respectively. Equating coefficients in (3.6) and (3.7) yields

$$M_2 a_2 = (1 - \gamma) p_1, \tag{3.8}$$

$$M_3 a_3 = (1 - \gamma) p_2, \tag{3.9}$$

$$M_4 a_4 = (1 - \gamma) p_3, \tag{3.10}$$

$$-M_2 a_2 = (1 - \gamma)q_1, \tag{3.11}$$

$$M_3(2a_2^2 - a_3) = (1 - \gamma)q_2 \tag{3.12}$$

and

$$-M_4(5a_2^3 - 5a_2a_3 + a_4) = (1 - \gamma)q_3.$$
(3.13)

From (3.8) and (3.11), we have

$$p_1 = -q_1. (3.14)$$

Adding equation (3.9) and (3.14), we get

$$2M_3a_2^2 = (1-\gamma)(p_2+q_2).$$

Putting $a_2 = \frac{(1-\gamma)p_1}{M_2}$ from (3.8), we have

$$p_1^2 = \frac{(p_2 + q_2)M_2^2}{2M_3(1 - \gamma)}.$$
(3.15)

By applying the inequalities $|p_2| \leq 2$ and $|q_2| \leq 2$, we get

$$|p_1| \le \sqrt{\frac{2}{M_3(1-\gamma)}} M_2.$$

Therefore

$$|a_2| \le \sqrt{\frac{2(1-\gamma)}{M_3}}$$

To obtain a bound on $|a_3|$ we wish express in terms of p_1, p_2, q_1 and q_2 . For this purpose subtracting (3.12) from (3.9), we get

$$2M_3(a_3 - a_2^2) = (1 - \gamma)(p_2 - q_2).$$
(3.16)

Using (3.8), (3.15) and after simple calculation, we have

$$2M_3a_3 = 2(1-\gamma)p_2$$

Using $|p_2| \leq 2$ we have

$$|a_3| \le \frac{2(1-\gamma)}{M_3}$$

We shall next find an estimate on $|a_4|$. At first we shall derive a relation connecting p_1, p_2, p_3, q_1, q_2 and q_3 . To this end, we first add the equations (3.10) and (3.13), we get

$$-M_4(5a_2^3 - 5a_2a_3) = (1 - \gamma)(p_3 + q_3)$$

Using (3.8), (3.16) and after simple calculation, we get

$$p_1(p_2 - q_2) = \frac{2M_2M_3(p_3 + q_3)}{5M_4(1 - \gamma)}.$$
(3.17)

We wish to express a_4 in terms of p_1, p_2, p_3, q_1, q_2 and q_3 . Now subtracting (3.13) from (3.10), we get

$$M_4(2a_4 + 5a_2^3 - 5a_2a_3) = (1 - \gamma)(p_3 - q_3).$$

Using (3.8), (3.16), (3.17) and after simple calculation

$$2M_4a_4 = 2(1-\gamma)p_3$$

Using inequality $|p_3| \leq 2$, we have

$$|a_4| \le \frac{2(1-\gamma)}{M_4}.$$

Remark 3.3. If we put $\lambda = 0$ in Theorems 2.2 and 3.2, then our estimate on $|a_3|$ improves the corresponding results of Porwal and Darus [11].

Remark 3.4. If we put n = 0, $\lambda = 0$ in Theorems 2.2 and 3.2, then our estimate on $|a_3|$ improves the corresponding results due to Frasin and Aouf [6].

Remark 3.5. If we put n = 0, $\lambda = 0$, $\mu = 1$ in Theorems 2.2 and 3.2, then our estimate on $|a_3|$ improves the corresponding results due to Srivastava *et al.* [14].

Remark 3.6. Sharp estimates for the coefficients $|a_2|$, $|a_3|$ and other coefficients of functions belonging to the classes investigated in this paper are yet open problems. Indeed it would be of interest even to find estimates (not necessarily sharp) for $|a_n|$, $n \ge 5$.

Acknowledgement. The authors are thankful to the referee for his valuable comments and observations which helped in improving the paper.

References

- Ali, R.M., Lee, S.K., Ravichandran, V., Supramanian, S., Coefficient estimates for biunivalent Ma-Minda starlike and convex functions, Appl. Math. Lett., 25(2012), 344-351.
- [2] Brannan, D.A., Clunie, J.G. (eds.), Aspects of Contemporary Complex Analysis (Proceedings of the NATO Advanced Study Institute held at the University of Durham, Durham; July 1-20, 1979), Academic Press, New York and London, 1980.
- [3] Brannan, D.A., Taha, T.S., On some classes of bi-univalent functions, in: S.M. Mazhar, A. Hamoui, N.S. Faour (eds.), Mathematical Analysis and its Applications, Kuwait; February 18-21, 1985, in: KFAS Proceedings Series, Vol. 3, Pergamon Press, Elsevier Science Limited, Oxford, 1988, 53-60; see also Stud. Univ. Babeş-Bolyai Math., **31**(1986), 70-77.
- [4] Cho, N.E., Kim, T.H., Multiplier transformations and strongly close-to-convex functions, Bull. Korean Math. Soc., 40(2003), no. 3, 399-410.
- [5] Cho, N.E., Srivastava, H.M., Argument estimates of certain analytic functions defined by a class of multiplier transformations, Math. Comput. Modell., 37(2003), no. 1-2, 39-49.
- [6] Frasin, B.A., Aouf, M.K., New subclasses of bi-univalent functions, Appl. Math. Lett., 24(2011), 1569-1573.
- [7] Lewin, M., On a coefficient problem for bi-univalent functions, Proc. Amer. Math. Soc., 18(1967), 63-68.
- [8] Mishra, A.K., Soren, M.M., Coefficient bounds for bi-starlike analytic functions, Bull. Belg. Math. Soc. Simon Stevin, 21(2014), 157-167.
- [9] Netanyahu, E., The minimal distance of the image boundary from the origin and the second coefficient of a univalent function in |z| < 1, Arch. Rational Mech. Anal., **32**(1969), 100-112.
- [10] Pommerenke, Ch., Univalent Functions, Vandenhoeck and Rupercht, Göttingen, 1975.
- [11] Porwal, S., Darus, M., On a new subclass of bi-univalent functions, J. Egypt. Math. Soc., 21(2013), 190-193.
- [12] Porwal, S., Ghai, S.K., Kumar, K., Some new subclasses of bi-univalent functions, Stud. Univ. Babeş-Bolyai Math., 60(2015), no. 4, 543-552.

- [13] Sălăgean, G.S., Subclasses of univalent functions, Complex Analysis-Fifth Romanian Finish Seminar, Bucharest, 1(1983), 362-372.
- [14] Srivastava, H.M., Mishra, A.K., Gochhayat, P., Certain subclasses of analytic and biunivalent functions, Appl. Math. Lett., 23(2010), 1188-1192.
- [15] Uralegaddi, B.A., Somanatha, C., Certain classes of univalent functions, in "Current Topics in Analytic Function Theory", 371-374, World Sci. Publishing, River Edge, NJ.
- [16] Xu, Q.H., Gui, Y.C., Srivastava, H.M., Coefficient estimates for a certain subclass of analytic and bi-univalent functions, Appl. Math. Lett., 25(2012), no. 6, 990-994.
- [17] Xu, Q.H., Xiao, H.G., Srivastava, H.M., A certain general subclass of analytic and biunivalent functions and associated coefficient estimate problems, Appl. Math. Comput., 218(23)(2012), 11461-11465.

Saurabh Porwal Lecturer Mathematics Sri Radhey Lal Arya Inter College, Aihan, Hathras-204101, (U.P.), India

e-mail: saurabhjcb@rediffmail.com

Shivam Kumar Department of Mathematics UIET, CSJM University, Kanpur-208024 (U.P.), India